
 

 <QF7720959 rev 5>  

 

ML

Instruction Sheet IS-17151C 
HALOGEN TO LED FOG LIGHT REPLACEMENT KIT 

 
Revision: C Advanced kits canceled Nov 01 2022 

 

VEHICLE ORIGINAL FOG LAMP 
PART NUMBERS 

BASIC KIT 
(Include hardware for direct replacement) 

H345 Coach & VIP 
from 9-1470 up to K-0614 

(With 4 fog lamps) 
430707 & 430663 

Order 430209 Qty 2  

(Kit include 2 fog lamps) 

H345 Coach & VIP 
from 9-1470 up to K-0614 

(With 2 fog lamps) 
430707 & 430663 

Order 430209 Qty 1  

(Kit include 2 fog lamps) 

H345 Coach & VIP 
from 3-4477 up to 9-1469 430706 & 430553 Order 430220 Qty 1  

(Kit include 2 fog lamps) 

X345 Coach 
from 4-8359 up to K-6442 430706 & 430553 Order 430220 Qty 1  

(Kit include 2 fog lamps) 

X-Series Ent. & MTH 
from 4-8359 up to K-6442 430706 & 430553 Order 430220 Qty 1  

(Kit include 2 fog lamps) 

 

 

 

 

  
 



 

 <QF7720959 rev 5>  

 

ML

MATERIAL  

BASIC KIT 430220 X3 SERIES 

 
ITEM PART NO DESCRIPTION QTY 

1 560636 FOG LAMP LED X3 SERIES 2 
2 5001982 SCREW HEX SS NSS M6 X 12 4 
3 430200 MAIN SUPPORT 2 
4 5001923 SCREW HEX SS NSS M6X45 2 
5 5001182 NUT HEX NYRT SS M6-1 2 
6 430208 SECONDARY SUPPORT 2 
7 500270 FLAT WASHER SS .406X1.000X.063 (M10,3/8) 4 
8 502616 LOCK WASHER SS 10.2X18.1X2.2 (M10,3/8) 2 
9 502567 NUT HEX SS M10-1.5 2 
10 FI-17151 FEUILLE D’INSTRUCTION 1 
11 IS-17151 INSTRUCTION SHEET 1 



 

 <QF7720959 rev 5>  

 

ML

BASIC KIT 430209 H3 SERIES 

 
ITEM PART NO DESCRIPTION QTY 

1 560637 FOG LAMP LED H3 SERIES 2 
2 5001982 SCREW HEX SS NSS M6 X 12 4 
3 430200 MAIN SUPPORT 2 
4 5001923 SCREW HEX SS NSS M6X45 2 
5 5001182 NUT HEX NYRT SS M6-1 2 
6 430208 SECONDARY SUPPORT 2 
7 500270 FLAT WASHER SS .406X1.000X.063 (M10,3/8) 4 
8 502616 LOCK WASHER SS 10.2X18.1X2.2 (M10,3/8) 2 
9 502567 NUT HEX SS M10-1.5 2 
10 FI-17151 FEUILLE D’INSTRUCTION 1 
11 IS-17151 INSTRUCTION SHEET 1 



IS-17151C 
Page  4 / 5 

 

 <QF7720959 rev 5>  ML

 

 

NOTE 
Material can be obtained through regular channels. 

 

 

 

PROCEDURE 

 
DANGER 

Park vehicle safely, apply parking brake, stop the engine.  Prior to working on the vehicle, set the ignition 
switch to the OFF position and trip the main circuit breakers equipped with a trip button. On Commuter 
type vehicles, set the battery master switch (master cut-out) to the OFF position. 
Lockout & Tag out (LOTO) must be performed during set-up, maintenance or repair activities. Refer to 
your local procedure for detailed information regarding the control of hazardous energy. 

 

1. Remove the former fog lamps. 
2. Refer to the kit illustration. Assemble the new fog lamps as shown on the image. 

 

 

 
Fog Light Vertical Calibration 

3. Position the vehicle on level ground in 
front of a wall. 

4. Measure 80’’ (1830 mm) between the 
vehicle lights and the wall. 

 
FIGURE 1 



IS-17151C 
Page  5 / 5 

 

 <QF7720959 rev 5>  ML

5. If the vehicle has four fog lights, use a 
board to hide one light when adjusting 
the other. 

 
FIGURE 2 

 

6. For each light, set the top of the 
illuminated zone on the wall at 16’’ 
(405 mm) (dimension ‘’A’’). 

7. Procedure is complete. 

 

PARTS / WASTE DISPOSAL 

Discard waste according to applicable environmental regulations (Municipal/State [Prov.]/ Federal) 

 


	Nov 01 2022
	Fog Light Vertical Calibration

	Advanced kits canceled
	PROCEDURE
	PARTS / WASTE DISPOSAL

